N+*BUG 20088 H1H ~ 20094 6H27H £:ti#4&

F£AH HE UXA Xtk =515%m
8A1H YL 77,276
8A2H 8 ABIEHE AEENAEEYE L 4— 1,200 76,076

8A30HIAfBIERIGE AEBRMALELE L 4— 1,200 74,876

8A30H OSCHHERAEEF{T 700 75,576

8A30H 8A EHI=FT 100 75,676

9A20H 10ABIE=GE LB HIEESE L 5— 1,200 74,476

9A24H 9 A EHISFR 360 74,836

10A258 |11 AfleRIGE AEBTREEELE 54— 1,200 73,636
10A258 | 12AflE=5E AEENALELE L 4— 1,200 72,436
10A 258 10A ZHI=FM 160 72,596
11A15H2009.1 ABIERIGEE atEhhEErEto 49— 1,200 71,396
11A228| 11 AEHI=FM 130 71,526
12A208 20092 ABIERIGE 4EEHALESE 45— 1,200 70,326
12A208|12A ZHI=FT 960 71,286
1R178 1A EHI=EH 230 71,516

1A17820093RHIERI5E LEETELESS 45— 1,200 70,316

2R14H 4Rl R5E BEBH M EESE 54— 1,200 69,116

2A28H2ABIE£5E 100x8A 800 69,916

2A 280 2 A EHI=E 211 70,127

3A21A3ABIERE 100x7A 700 70,827

4825848 HIEEE 100x9A 900 71,727

4A258 4R EHIEF 70 71,797

5A23H5Al&Ri5E [FAZEEGBNHLVEE) 1,200 70,597

5A23A5Afl==E 100x8A 800 71,397

5A23H 5 A RHI=F 110 71,507

6H27H 6 ABIE=IHE (FAZRANHLEER) 1,200 70,307

6H27H71ABIE=HE (FAZRANHLEER) 1,200 69,107

62786 A% 100Mx 7A 700 69,807

REEIZHRYBL 69,807
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